

## See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



990-PF

## **Return of Private Foundation**

or Section 4947(a)(1) Trust Treated as Private Foundation

Do not enter Social Security numbers on this form as it may be made public.

OMB No 1545-0052

For calendar year 2013 or tax year beginning , 2013, and ending , 20									, 20	
		of foundation		•				A Employer Identification number		
		IN GOTTLIEB CHARITABLE FOUN					$\perp$	43-0	5380792	
	Numb	er and street (or P.O box number if mail is not delivered	d to street a	address)		Room/suite	В	3 Telephone number (see instructions)		
_1	UMB	BANK N.A. P. O. BOX 415044	M/S 1	020307				81	5-860-1933	
7	Cityor	town, state or province, country, and ZIP or foreign po	stal code						_	
	K D N S	SAS CITY, MO 64141-6692					ľ	If exemption applicate pending, check here	on is	
		ck all that apply:   Initial return		Initial return	of a former r	ublic charity	٦,	1 Foreign organization	abask bass	
_	0	Final return		Amended re	•	,	ו	2 Foreign organization		
		Address change		Name chang	е			85% test, check he computation		
Н	H Check type of organization: X Section 501			empt private f	oundation		٦.	·		
ſ	_	ection 4947(a)(1) nonexempt chantable trust	$\overline{}$	her taxable pr		tion _	_]	If private foundation in under section 507(b)		
ī	Fair	market value of all assets at J Acco	unting n	nethod X C	ash Acc	rual	IJ₽	If the foundation is in	a 60-month termination	
	end	of year (from Part II, col. (c), line	ther (spe	ecify)		<b></b>	.	under section 507(b)	1)(B), check here . >	
	16)	▶ \$ 36,806,740. (Part i	, column	(d) must be o	n cash basıs ,	)		<del></del>		
P	art l	Analysis of Revenue and Expenses (The total of amounts in columns (b), (c), and (d)	\ \2,	evenue and	(b) Net inve	estment	(c)	Adjusted net	(d) Disbursements for charitable	
		may not necessarily equal the amounts in		enses per books	incon	ne		ıncome	purposes (cash basis only)	
٦	-	column (a) (see instructions) )		_					(cash basis diliy)	
	1	Contributions, gifts, grants, etc., received (attach schedule) .  Check if the foundation is not required to								
Revenue	3	Check ▶ attach Sch B			<del> </del>					
	3	Dividends and interest from securities	<u> </u>	889,900	84	5,765.				
	5a	Gross rents		261,574		1,574.		NONE		
		Net rental income or (loss) 216, 649	]	•						
	Α-	Net gain or (loss) from sale of assets not on line 10	1	,483,980						
	Б	Gross sales price for all assets on line 6a 6,637,566.		•						
eve	7	Capital gain net income (from Part IV, line 2)			1,48	3,980.				
œ	8	Net short-term capital gain								
	9	Income modifications								
	10 a	Gross sales less returns and allowances • • • • •								
	1	Less Cost of goods sold .			ļ					
	l	Gross profit or (loss) (attach schedule)								
	11	Other income (attach schedule)	_		2 50	1 210		NONE	-	
_	12	Total. Add lines 1 through 11	1	187,393	<del></del>	91,319. 10,545.		NONE	46,848	
	13	Compensation of officers, directors, trustees, etc.		167,393	· - · · · · · ·	10,343.			40,040	
es	14	Other employee salaries and wages		1						
ens	15	Pension plans, employee benefits E.V. Legal fees (attach schedule)	<del> U                                    </del>	4,393		1.098.		-	3,295	
Expenses	10a	Accounting fees (attach schedule)	19			_, 555.			800	
ve E	1	Other professionalifees lattach Schedules 20	MA IS							
aţi	17	Interest								
str	17 18 19 20 21		-	67,151		9,089.				
Ē	19	Taxes (attach schedule) (see instructionals.  Depreciation (attach schedule) and depletion	1							
퉏	20	Occupancy		-		_				
Ē	21	Travel, conferences, and meetings								
ā	22	Printing and publications								
Operating	23	Other expenses (attach schedule) STMT. $1$ .		64,390	<u> </u>	55,810.				
era	24	Total operating and administrative expenses.		204 40-				ļ	50.040	
Ö		Add lines 13 through 23	<u></u>	324,127	1 20	06,542.			50,943	
	25	Contributions, gifts, grants paid		L,837,000	<del> </del>	)C E42			1,837,000	
_	26	Total expenses and disbursements. Add lines 24 and 25	1 2	2,161,127	20	06,542.			1,887,943	
	27	Subtract line 26 from line 12		474 227						
		Excess of revenue over expenses and disbursements	-	474,327	2 20	24 777				
		Net investment income (if negative, enter -0-)		<del></del>	2,30	34,777.		NONE		
Fo		Adjusted net income (if negative, enter -0-)			1			TACIAL	Form <b>990-PF</b> (2013)	

JSA For Paperwork Reduction Act Notice, see instructions.

PI5087 553R 11/17/2014 10:11:14

100156

Page 2 Form 990-PF (2013) 43-6380792

Part II		Palanca Shoots	Attached schedules and amounts in the description column should be for end-of-year	Beginning of year End of year		of year
	art II	Balance Sneets	amounts only (See instructions )	(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash - non-interest-bearing	ng			
	2	Savings and temporary of	cash investments			
	3	Accounts receivable ▶				
		Less: allowance for doub	otful accounts >			
	4	Pledges receivable ▶_				
		Less: allowance for doub	otful accounts ▶			
	5	Grants receivable				
	6	Receivables due from	officers, directors, trustees, and other			
		disqualified persons (atta	ach schedule) (see instructions)			
	7	Other notes and loans re	eceivable (attach schedule) 🕨	ı.		:
		Less: allowance for doub	otful accounts ▶			
ţ	8	Inventones for sale or us	se			
Assets	9	Prepaid expenses and de	eferred charges			
ď	10 a	Investments - U S and state	government obligations (attach schedule), .	_		
	ь	Investments - corporate	stock (attach schedule)			
			bonds (attach schedule)			
	11	Investments - land, building and equipment basis Less accumulated deprecia	etion			-
	40	(attach schedule)				· <u> </u>
	12 13	Investments - mortgage	loans	23,812,171.	24,272,967	32,704,768
	14	Land, buildings, and	_	23/022/2/2/		. <u> </u>
		equipment basis Less accumulated deprecia	ation	-		
	15	(attach schedule) Other assets (describe	<b>▶</b> )	2,530,983.	2,530,983	4,101,972
	16	Total assets (to be	completed by all filers - see the	2733073001	270007000	
			age 1, item I)	26,343,154.	26,803,950	36,806,740
$\dashv$	17		ccrued expenses			
	18	• •				1,
L/S	19					-
Liabilities	20		rs, trustees, and other disqualified persons			1 :
ģ	21		otes payable (attach schedule)	-		1
Ë	22					1
		Other habilities (debenies				1
	23	Total liabilities (add line	es 17 through 22)		NON	
_			low SFAS 117, check here			,
			24 through 26 and lines 30 and 31.			
ŝ	24	Unrestricted				
a	25				-	;
Ba	26					1
or Fund Balances			not follow SFAS 117, ▶ 🗓			1
Ē		check here and comp	plete lines 27 through 31.			
_	27	•	cipal, or current funds	26,343,154.	26,803,950	
Net Assets	28		r land, bldg, and equipment fund			
Ass	29		lated income, endowment, or other funds			
et	30	Total net assets or fund	d balances (see instructions)	26,343,154.	26,803,950	
Z	31	Total liabilities and	net assets/fund balances (see			'
		instructions)	<u> </u>	26,343,154.	26,803,950	
P	art III	Analysis of Cha	anges in Net Assets or Fund	Balances		
1	Tota	al net assets or fund b	balances at beginning of year - Part	II, column (a), line 30 (	must agree with	
			d on prior year's return)			26,343,154.
2		er amount from Part I,			_	474,327.
			1 1 1 0/1 1 1 1 5		1 2	
			n line 2 (itemize) ► SEE STA		4	26,817,481.
5	Dec	reases not included in	5	13,531.		
_6	Tota	al net assets or fund ba	alances at end of year (line 4 minus l	ine 5) - Part II, column (I	o), line 30 6	26,803,950.
_						Form 990-PF (2013)

Part IV Capital Gains	s and Losses for Tax on Inve	estment Income					
(a) List an 2-story b	(b) How acquired P - Purchase D - Donation	(c) Date acquired (mo., day, yr.)	(d) Date sold (mo., day, yr.)				
ta PUBLICLY TRADED	SECURITIES		D-Darianon				
b							
C							
_d							
e	· · · · · · · · · · · · · · · · · · ·			L			
(e) Gross sales pnce	(f) Depreciation allowed (or allowable)	(g) Cost or other basis plus expense of sale		(h) Gain or (lo (e) plus (f) mini	12 (g)		
a 6,637,566.		5,153,586.		1	,483,980.		
<u>b</u>					_		
_ <u>c</u>							
<u>d</u>		-	_				
<u>e</u>		h			<del></del>		
Complete only for assets	showing gain in column (h) and owned	(k) Excess of col. (i)		Gains (Col. (h) ga (k), but not less i			
(i) F.M.V. as of 12/31/69	(j) Adjusted basis as of 12/31/69	over col. (j), if any	33.	Losses (from co			
a	a						
b							
<u>c</u>			ļ		-		
_d			<u> </u>				
_e			ļ <u>.</u>				
2 Capital gain net income or	(net capital loss)	gain, also enter in Part I, line 7 (loss), enter -0- in Part I, line 7					
			2	1	<u>,483,980.</u>		
	or (loss) as defined in sections 12						
•	rt I, line 8, column (c) (see inst	•					
Part I, line 8	Jnder Section 4940(e) for Red		3				
	c private foundations subject to the			<del></del>			
	leave this part blank.  the section 4942 tax on the distribution and the distribution are the distribution and the distribution are the distribution and the distribution are the		ase perio	d?	Yes X No		
	ount in each column for each year;		any entr	ies.			
(a)	(b)	(c)		(d) Distribution r	atio.		
Base period years Calendar year (or tax year beginning in)	Adjusted qualifying distributions	Net value of noncharitable-use assets		(col (b) divided by			
2012	1,768,760.	33,655,110.			0.052555		
2011	2,157,722.	33,700,098.	<u> </u>		0.064027		
2010	1,686,755.	33,545,254.	ļ		0.050283		
2009	1,288,316.	31,096,617.	ļ		0.041429		
2008	1,620,919.	33,599,641.	<del>                                     </del>		0.048242		
	n				0 256526		
2 Total of line 1, column (d	l)	the total on line 2 by E. or by the	2		0.256536		
=	o for the 5-year base period - divide Idation has been in existence if less		3		0.051307		
,							
4 Enter the net value of nor	ncharitable-use assets for 2013 from	m Part X, line 5	4	35	,535,236.		
5 Multiply line 4 by line 3			5	1	,823,206.		
6 Enter 1% of net investme	nt income (1% of Part I, line 27b)		6		23,848.		
7 Add lines 5 and 6			7	7 1,847,054.			
8 Enter qualifying distributi If line 8 is equal to or gi Part VI instructions.	8 Enter qualifying distributions from Part XII, line 4						
JSA					m <b>990-PF</b> (2013		

orm	990PF (2013) 43-6380792			age 4
Part	Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948 - see	instru	ctions	s)
1a	Exempt operating foundations described in section 4940(d)(2), check here and enter N/A on line 1			
	Date of ruling or determination letter (attach copy of letter if necessary - see instructions)			
Ь	Domestic foundations that meet the section 4940(e) requirements in Part V, check		<u>23,8</u>	48.
	here X and enter 1% of Part I, line 27b			
C	All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b).			
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only Others enter -0-) 2			
3	Add lines 1 and 2		23,8	48.
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only Others enter -0-) 4			ONE
5	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0		23,8	48.
6	Credits/Payments			
а	2013 estimated tax payments and 2012 overpayment credited to 2013 6a 62, 497.			
ь	Exempt foreign organizations - tax withheld at source			
C	Tax paid with application for extension of time to file (Form 8868)			
d	Backup withholding erroneously withheld			
7	Total credits and payments Add lines 6a through 6d		62,4	<u>97.</u>
8	Enter any penalty for underpayment of estimated tax. Check here X if Form 2220 is attached 8			
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed			
10	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid		38,6	
11	Enter the amount of line 10 to be Credited to 2014 estimated tax ▶ 23,850. Refunded ▶ 11		14,7	<u> 99.</u>
	VII-A Statements Regarding Activities	,		
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate	<u> </u>	Yes	No
	or intervene in any political campaign?	1a		X
Ь	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see Instructions for the		[	
	definition)?	1b		X
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials published or			,
	distributed by the foundation in connection with the activities			
	Did the foundation file Form 1120-POL for this year?	1c		X
d	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year			
	(1) On the foundation  \$ (2) On foundation managers  \$			
е	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on			
	foundation managers. > \$			
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?	2		X
_	If "Yes," attach a detailed description of the activities			
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation,			X
4.	or bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes	3 4a	Х	
	Did the foundation have unrelated business gross income of \$1,000 or more during the year?	4b	X	
	Was there a liquidation, termination, dissolution, or substantial contraction during the year?	5		X
J	If "Yes," attach the statement required by General Instruction T	_ <u>_</u> _		
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:			
٠	By language in the governing instrument, or			
	By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict		]	
	with the state law remain in the governing instrument?	6	X	
7	Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col (c), and Part XV	7	X	
	Enter the states to which the foundation reports or with which it is registered (see instructions)			
L	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate)			
U	of each state as required by General Instruction G? If "No," attach explanation.	8b	X	
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or	Ju		
-	4942(j)(5) for calendar year 2013 or the taxable year beginning in 2013 (see instructions for Part XIV)? If "Yes," complete			
	Part XIV	9		Х
10	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names and			
	addresses	10		Х
			90-PF (	

Form 990-PF (2013) 43-6380792 Page 5 Part VII-A Statements Regarding Activities (continued) 11 At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the X 12 Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified 13 Did the foundation comply with the public inspection requirements for its annual returns and exemption application? . . . N/A UMB BANK, N.A. \_\_\_\_\_ Telephone no. ►(816) 860 14 The books are in care of Located at ► 1010 GRAND, KANSAS CITY, MO ZIP+4 ► 64106 15 Section 4947(a)(1) nonexempt chantable trusts filing Form 990-PF in lieu of Form 1041 - Check here . . . No 16 At any time during calendar year 2013, did the foundation have an interest in or a signature or other authority Yes over a bank, securities, or other financial account in a foreign country?............. X See the instructions for exceptions and filing requirements for Form TD F 90-22.1. If "Yes," enter the name of the foreign country Part VII-B Statements Regarding Activities for Which Form 4720 May Be Required No File Form 4720 if any item is checked in the "Yes" column, unless an exception applies. 1a Dunng the year did the foundation (either directly or indirectly) (1) Engage in the sale or exchange, or leasing of property with a disqualified person? . . . . . . . . . (2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from) a Yes Nο (3) Furnish goods, services, or facilities to (or accept them from) a disqualified person?....... Yes No (4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? . . . . . . . . (5) Transfer any income or assets to a disqualified person (or make any of either available for the benefit or use of a disqualified person)?............... (6) Agree to pay money or property to a government official? (Exception. Check "No" if the foundation agreed to make a grant to or to employ the official for a period after termination of government service, if terminating within 90 days)........ Yes b If any answer is "Yes" to 1a(1)-(6), did any of the acts fail to qualify under the exceptions described in Regulations section 53 4941(d)-3 or in a current notice regarding disaster assistance (see instructions)? . . . . . . . . . . . . c Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that 1c 2 Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation defined in section 4942(j)(3) or 4942(j)(5)) a At the end of tax year 2013, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning before 2013?........... b Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2) (relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to c If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here. 3a Did the foundation hold more than a 2% direct or indirect interest in any business enterprise Yes b If "Yes," did it have excess business holdings in 2013 as a result of (1) any purchase by the foundation or disqualified persons after May 26, 1969, (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest, or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the X 4a Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes? . . . . . . . b Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 20137

Form	990-PF (20	13)		<u>43-63</u>	<u>80792</u>		Page 6
Par	t VII-B	Statements Regarding Activities for	r Which Form 47	20 May Be Requi	red (continued)		
5a	During th	e year did the foundation pay or incur any amou	nt to.	-			
	(1) Carry	on propaganda, or otherwise attempt to influen-	ce legislation (section	4945(e))?	. Yes X No	,	
	(2) Influe	ence the outcome of any specific public ele	ction (see section 4	4955); or to carry or	n, <u> </u>		
	direc	tly or indirectly, any voter registration drive?			. Yes X No	,	
		de a grant to an individual for travel, study, or otl				,	
	(4) Provi	de a grant to an organization other than a	charitable, etc., org	ganization described i	n		
	section	on 509(a)(1), (2), or (3), or section 4940(d)(2)? (s	see instructions)		Yes X No	,	
		de for any purpose other than religious, ch					
		oses, or for the prevention of cruelty to children of		- ·		,	
Ь		nswer is "Yes" to 5a(1)-(5), did any of the				,	
	Regulatio	ns section 53 4945 or in a current notice regard	ling disaster assistanc	e (see instructions)?	· · · · · · · · · · · · ·	5b	1
	Organizat	tions relying on a current notice regarding disast	er assistance check h	iere			
c		nswer is "Yes" to question 5a(4), does the				_	
	because	it maintained expenditure responsibility for the g	rant?		. Yes No	,	
		ittach the statement required by Regulations sect					
6a	Did the	foundation, during the year, receive any fund	ds, directly or indire	ctly, to pay premium	s		
		onal benefit contract?				,	
b		oundation, during the year, pay premiums, directl				6b	l x
	If "Yes" to	o 6b, file Form 8870					
7a	At any tir	ne during the tax year, was the foundation a part	ty to a prohibited tax	shelter transaction?	Yes X No	,	
b	If "Yes," o	fid the foundation receive any proceeds or have	any net income attribi	utable to the transaction	in?	7ъ	
Par	t VIII	Information About Officers, Directors	, Trustees, Foun	dation Managers,	Highly Paid Emplo	yees,	
1	List all o	and Contractors officers, directors, trustees, foundation ma	anagers and their	compensation (see	instructions).		
		(a) Name and address	(b) Title, and average	(c) Compensation	(d) Contributions to	(e) Expense	account.
		(a) Name and address	hours per week devoted to position	(If not paid, enter -0-)	employee benefit plans and deferred compensation	other allo	wances
UMB_	BANK, N.A	··	CO-TRUSTEE				
P.0	BOX 4196	92, KANSAS CITY, MO 64141	2	133,949	-0-		-0-
PETE	R BROWN/	LATHROP AND GAGE	CO-TRUSTEE				
2345	Grand Bl	vd , Suite 2800, KANSAS CITY, MO 64108	2	26,722	-0-		-0-
BART	ON J COHE	<u>N</u>	CO-TRUSTEE				
9010	SHAWNEE	MISSION PARKWAY, MISSION, KS 66202-2820	2	26,722.	-0-		-0-
			<u> </u>				
2	"NONE."	sation of five highest-paid employees	(other than thos	se included on line	e 1 - see instructio	ns). If no	ne, enter
	INCINE.		(b) Title, and average		(d) Contributions to		
(a	) Name and	address of each employee paid more than \$50,000	hours per week	(c) Compensation	employee benefit plans and deferred	(e) Expense other allo	
			devoted to position		compensation		
NONE			]	_	_		
				-0-	-0-		0
	<b>-</b>						
	<b>-</b>						
					[		
	_						
Tota	I number	of other employees hald over \$50,000			<b>▶</b>	NC	אוצ

Form 990-PF (2013)

Total. Add lines 1 through 3

Form 990-PF (2013)

Form 990-PF (2013) 43-6380792

Part	Minimum Investment Return (All domestic foundations must complete this part. Foreign see instructions.)	gn founda	tions,
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc.,		
	purposes.		
а	Average monthly fair market value of securities	1a	30,292,672.
b	Average of monthly cash balances	1b	1,681,738.
c	Fair market value of all other assets (see instructions)	1c	4,101,972.
đ	Total (add lines 1a, b, and c)	1d	36,076,382.
е	Reduction claimed for blockage or other factors reported on lines 1a and		
	1c (attach detailed explanation)		
2	Acquisition indebtedness applicable to line 1 assets	2	NONE
3		3	36,076,382.
4	Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see		
		4	541,146.
5	Instructions)  Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	35,535,236.
6	Minimum investment return. Enter 5% of line 5	6	1,776,762.
Part	Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating found and certain foreign organizations check here ▶ and do not complete this part.)	dations	
1	Minimum investment return from Part X, line 6	1	1,776,762.
2a	Tax on investment income for 2013 from Part VI, line 5 2a 23,848.		
Ь	Income tax for 2013. (This does not include the tax from Part VI.) 2b	1	
С	Add lines 2a and 2b	2c	23,848.
3	Distributable amount before adjustments. Subtract line 2c from line 1.	3	1,752,914.
4	Recoveries of amounts treated as qualifying distributions	4	NONE
5	Add lines 3 and 4	5	1,752,914.
6	Deduction from distributable amount (see instructions)	6	NONE
7	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII,		
	line 1	7	1,752,914.
Part	XII Qualifγing Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:		
а	Expenses, contributions, gifts, etc total from Part I, column (d), line 26	1a	1,887,943.
b	Program-related investments - total from Part IX-B	1b	
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,		
	purposes	2	NONE
3	purposes Amounts set aside for specific charitable projects that satisfy the		
а	Suitability test (prior IRS approval required)	3a	NONE
b	Cash distribution test (attach the required schedule)	3b	NONE
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	1,887,943.
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment income.		
	Enter 1% of Part I, line 27b (see instructions)	5	23,848.
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	1,864,095.
	Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when o		

Form **990-PF** (2013)

	n 990-PF (2013) rt XIII Undistributed Income (see instruc	tions)	<del></del>		Page 9
	Chaistribated modifie Jace matride	(a)	(b)	(c)	(d)
1	Distributable amount for 2013 from Part XI,	Corpus	Years prior to 2012	2012	2013
	line 7				1,752,914.
2	Undistributed income, if any, as of the end of 2013				
	Enter amount for 2012 only			NONE	
Ь	Total for prior years 20 11 ,20 ,20		NONE		
3	Excess distributions carryover, if any, to 2013.				
	From 2008				
b	From 2009				
c	From 2010				
	From 2011				
	From 2012	(71 (12			
f	Total of lines 3a through e	671,613.			
4	Qualifying distributions for 2013 from Part XII, line 4:   \$ 1,887,943.				
а	Applied to 2012, but not more than line 2a			NONE	
b	Applied to undistributed income of prior years		NONE		
	(Election required - see instructions)		NONE	<del></del>	<del></del>
С	Treated as distributions out of corpus (Election required - see instructions)	NONE			
А	Applied to 2013 distributable amount	1,01,2			1,752,914.
	Remaining amount distributed out of corpus	135,029.		-	11,132,1321.
5	Excess distributions carryover applied to 2013	NONE			NONE
6	(If an amount appears in column (d), the same amount must be shown in column (a) )  Enter the net total of each column as				
	indicated below:	906 643			r
	Corpus. Add lines 3f, 4c, and 4e. Subtract line 5	806,642.		-	
Ь	Prior years' undistributed income. Subtract line 4b from line 2b		NONE		
c	Enter the amount of prior years' undistributed				
	been issued, or on which the section 4942(a)				
	tax has been previously assessed		NONE		
d	Subtract line 6c from line 6b. Taxable				
	amount - see instructions		NONE		
е	Undistributed income for 2012. Subtract line 4a from line 2a. Taxable amount - see				
	instructions			NONE	<del></del>
f	Undistributed income for 2013. Subtract lines				
	4d and 5 from line 1. This amount must be				1101
	distributed in 2014				NONE
7	Amounts treated as distributions out of corpus				
	to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (see instructions)	NONE			
8	Excess distributions carryover from 2008 not				
	applied on line 5 or line 7 (see instructions)	NONB			
9	Excess distributions carryover to 2014.	005 545	1		
	Subtract lines 7 and 8 from line 6a	806,642.			
	Analysis of line 9				
a	Excess from 2009				
	Excess from 2010				
	Excess from 2012				
	Excess from 2013 135, 029 .				
<u> </u>		I			Form <b>990-PF</b> (2013)

orm	990-PF (2013)				<u> 5380792</u>	_		Page
Pai	t XIV Private Ope	erating Foundation	ns (see instructions	and Part VII-A, questi	on 9)		NOT .	APPLICA
1 a	If the foundation has	received a ruling or	determination letter th	at it is a private oper	ating			
	foundation, and the ruling	is effective for 2013, e	enter the date of the rulin	g	▶			
ь	Check box to indicate whi	ether the foundation is	a private operating found	dation described in section		4942(j)	(3) or	4942(j)(
_		Tax year		Prior 3 years				
28	Enter the lesser of the ad- justed net income from Part	(a) 2013	(b) 2012	(c) 2011	(d) 201	0	. (	e) Total
	I or the minimum investment return from Part X for each		,,,====		,=,==			
	85% of line 2a							
			<del> </del>		<del> </del>			
С	Qualifying distributions from Part XII, line 4 for each year listed .							
d	Amounts included in line 2c not				<del> </del>			
Ī	used directly for active conduct of exempt activities							
е	Qualifying distributions made directly for active conduct of		"					
	exempt activities Subtract line 2d from line 2c							
3	Complete 3a, b, or c for the alternative test relied upon				1			
а	"Assets" alternative test - enter			1				
	(1) Value of all assets							
	(2) Value of assets qualifying							
	under section 4942(j)(3)(B)(i)			1				
ь	"Endowment" alternative test-							
	enter 2/3 of minimum invest-							
	ment return shown in Part X, line 6 for each year listed							
c	"Support" alternative test - enter							
_	(1) Total support other than							
	gross investment income							
	(interest, dividends, rents, payments on securities							
	loans (section 512(a)(5)),							
	or royalties)							•
	public and 5 or more							
	exempt organizations as provided in section 4942							
	(j)(3)(B)(m)							
	(3) Largest amount of sup- port from an exempt							
	organization							
	(4) Gross investment income .					]		
Par				rt only if the found	lation had \$	55,000	or mor	e in ass
	at any time	during the year -	see instructions.)					
	Information Regarding							
а	List any managers of before the close of any			ore than 2% of the total more than \$5,000). (S			∌d by th	ne founda
	NONE							
O	List any managers of					n equally	large p	ortion of
	·	snip or other entity)	of which the foundation	on has a 10% or greater	interest.			
	NONE							
								_
2	Information Regarding	Contribution, Gran	t, Gift, Loan, Scholars	hip, etc., Programs:				
				to preselected chari rants, etc. (see instruc				
	other conditions, comp			, ,			- 0	
a	The name, address, and	d telephone number	or e-mail address of the	ne person to whom app	lications shou	ld be add	Iressed.	
	SEE STATEMENT 3	· ·						
ь	The form in which appl		ubmitted and informat	on and materials they:	should include	·	-	
	SEE ATTACHED ST							
C	Any submission deadlii	nes						
	SEE ATTACHED ST	CATEMENT FOR I	INE 2					
d	Any restrictions or lif	mitations on award	s, such as by geog	raphical areas, charita	ble fields, ku	nds of ir	nstitution	ns, or ot
	SEE ATTACHED ST	י פרים ידואקאקידעי	TNE 2					
SA 0 1 0		TITEMENT FOR L	111111111111111111111111111111111111111				Form	990-PF (2
	°°PI5087 553R 11	1/17/2014 10:1	1:14	100156				21

	990-PF (2013)  XV Supplementary Information (c	ontinued)			Page 11
	XV Supplementary Information (c	ontinuea)	and for E	inture Bormont	
_3_	Grants and Contributions Paid During Recipient	If recipient is an individual.	Soundation	uture Payment	<del></del> -
	Name and address (home or business)	show any relationship to any foundation manager or substantial contributor	status of recipient	Purpose of grant or contribution	Amount
a	Paid during the year	or substantial contributor	recipient		
	SEE STATEMENT 17				1,837,000.
			1		
					).
				<u> </u>	
	Total	· · · · · · · · · · · · · · · · · · ·			1,837,000.
ь	Approved for future payment				
			l		
				İ	
			<u> </u>	l	
	Total	<u></u>	<u></u>	▶ 3b	Form <b>990-PF</b> (2013)
					Form 990-PF (2013)

Part XVI-A Analysis of Income-Produ	cing Activ	/ities			
Enter gross amounts unless otherwise indicated.	Unrela	nted business income	Excluded by	section 512, 513, or 514	(e)
	(a)	(b)	(c)	(d)	Related or exempt function income
1 Program service revenue	Business code	Amount	Exclusion code	Amount	(See instructions.)
e					
b					
С					
d					
e					
f					
g Fees and contracts from government agencies					
2 Membership dues and assessments					
3 Interest on savings and temporary cash investments				_	
4 Dividends and interest from securities			14	889,900.	
5 Net rental income or (loss) from real estate					
a Debt-financed property					
<b>b</b> Not debt-financed property			_16	216,649.	
6 Net rental income or (loss) from personal property .					
7 Other investment income			1.0		
8 Gain or (loss) from sales of assets other than inventory			18	1,483,980.	
9 Net income or (loss) from special events					
10 Gross profit or (loss) from sales of inventory					
11 Other revenue a		ĺ			
b					
<u> </u>					
d					
e 12 Subtotal. Add columns (b), (d), and (e)				2,590,529.	
13 Total. Add line 12, columns (b), (d), and (e)				····	2,590,529.
(See worksheet in line 13 instructions to verify calcu					2/350/325.
Part XVI-B Relationship of Activities		complishment of Ex	empt Purp	oses	·-
Explain below how each activit accomplishment of the foundation					
					<del></del>
		NOT APPLICABLE	p		
		NOT APPLICABLE	<u> </u>		
				<del>-</del> -	
+					<del></del>
			·		
	_	_			
					- 000 DF

Page 13

Part	XVII	Information R Exempt Organ	egarding Tra nizations	nsfers To and	Transacti	ons and	Relationships With None	charitabl	е
	in secti	e organization direction 501(c) of the Co	ly or indirectly e	ngage in any of the following with any other organization described ection 501(c)(3) organizations) or in section 527, relating to political					
	_	zations? ers from the reporting	r foundation to	a noncharitable ove	mnt organi	zation of:			
								1a(1)	X
								1a(2)	X
		transactions						15(5)	<del>                                     </del>
	(1) Sal	es of assets to a non	charitable exem	pt organization				1b(1)	<u> </u>
	(2) Pur	chases of assets from	n a noncharitabl	e exempt organiza	tion			1b(2)	X
								1b(3)	X
								1b(4)	<u> </u>
								16(5)	<u> </u>
								1b(6)	X
								1c	<u> </u>
							olumn (b) should always show		
		-					f the foundation received less f the goods, other assets, or s		
(a) Lir		(b) Amount involved		oncharitable exempt orga		-	ption of transfers, transactions, and shar		
<u> </u>	10 1101	10,7 1110011111110100	(4) 1141110 01111			(1)	, , , , , , , , , , , , , , , , , , , ,		-
				-					
		•							
							·		
		<u> </u>							
							<del> </del>		
						-	· · · · · · · · · · · · · · · · · · ·		
	describ	ped in section 501(c)	of the Code (ot				tax-exempt organizations 527? [	Yes [	X No
<u> </u>	It "Yes,	complete the follow: (a) Name of organization		(b) Type of o	reanization		(c) Description of relations	-hin	
		(a) Name of organization	<u>'</u>	(b) Type of O	rgariizauoii		(C) Description of relations	silip	
			-						
							<del></del>	•	
	Under	r penalties of perjury, I decla	re that I have examin	ed this return, including a	ccompanying so	hedules and st	tatements, and to the best of my knowledge	e and belief, i	t is true,
Sign		William C. M.	Tians	, .	nation of winer p	A CPOICE TEES OF		discuss this	return
Here		MIME IN TOUR	TIOMS	11/17/2	014	<u> </u>		eparer shown	
11010	Sign	nature of officer or trustee		Date		Title	(see instruction	ns)? X Yes	No
		Dest/Time		Andrew Level	<u></u>	n /		TINI	
Paid		Print/Type preparer's na		A PA III	W. 11		Ca.k     "	TIN DAALESS	11
Prep	arer	WESLEY HIRSC		GUS MP	NUMBER OF	4		P001622	
Use		Firm's name ER	<u>NST &amp; YOUN</u> 5 N. WACKE			7	Firm's EIN ► 34-	<u>6565596</u>	
J3E	Jiny		ICAGO, IL	IX.	606	506	Phone no 312-8	79-2000	
		, (11				_		rm <b>990-PF</b>	

## Form 8582

Department of the Treasury

Internal Revenue Service (99)

## **Passive Activity Loss Limitations**

► See separate instructions.

► Attach to Form 1040 or Form 1041.

▶ Information about Form 8582 and its instructions is available at www.irs.gov/form8582.

OMB No. 1545-1008

2013

Attachment Sequence No 88

Identifying number Name(s) shown on return Arvin Gottlieb Charitable Foundation 43-6380792 2013 Passive Activity Loss Caution: Complete Worksheets 1, 2, and 3 before completing Part I. Rental Real Estate Activities With Active Participation (For the definition of active participation, see Special Allowance for Rental Real Estate Activities in the instructions ) 1a Activities with net income (enter the amount from Worksheet 1, 1a b Activities with net loss (enter the amount from Worksheet 1, column 1b Prior years unallowed losses (enter the amount from Worksheet 1, Commercial Revitalization Deductions From Rental Real Estate Activities 2a Commercial revitalization deductions from Worksheet 2, column (a). . . . 2a b Prior year unallowed commercial revitalization deductions from Worksheet 2, column (b) 2b 2c **All Other Passive Activities** 3a Activities with net income (enter the amount from Worksheet 3, 261,574.00 3a b Activities with net loss (enter the amount from Worksheet 3, column 3b 53,505.00) c Prior years unallowed losses (enter the amount from Worksheet 3, 3d 208,069.00 Combine lines 1d, 2c, and 3d If this line is zero or more, stop here and include this form with your return, all losses are allowed, including any prior year unallowed losses entered on line 1c, 208,069.00 If line 4 is a loss and Line 1d is a loss, go to Part II. . Line 2c is a loss (and line 1d is zero or more), skip Part II and go to Part III Line 3d is a loss (and lines 1d and 2c are zero or more), skip Parts II and III and go to line 15 Caution: If your filing status is married filing separately and you lived with your spouse at any time during the year, do not complete Part II or Part III Instead, go to line 15 Part II Special Allowance for Rental Real Estate Activities With Active Participation Note: Enter all numbers in Part II as positive amounts See instructions for an example. Enter \$150,000 If married filing separately, see instructions . . . . . . 7 Enter modified adjusted gross income, but not less than zero (see instructions) Note: If line 7 is greater than or equal to line 6, skip lines 8 and 9, enter -0- on line 10. Otherwise, go to line 8 Multiply line 8 by 50% (.5). Do not enter more than \$25,000. If married filing separately, see instructions If line 2c is a loss, go to Part III Otherwise, go to line 15 Part III Special Allowance for Commercial Revitalization Deductions From Rental Real Estate Activities Note: Enter all numbers in Part III as positive amounts. See the example for Part II in the instructions. 11 Enter \$25,000 reduced by the amount, if any, on line 10. If married filing separately, see instructions 11 12 12 Enter the loss from line 4.......... 13 Enter the smallest of line 2c (treated as a positive amount), line 11, or line 13 . . . . . . . . . . Part IV Total Losses Allowed Total losses allowed from all passive activities for 2013. Add lines 10, 14, and 15 See

instructions to find out how to report the losses on your tax return ...........

16

20,961.00

1.00

Worksheet 6 - Allowed Losses	(See instructio	ns.)				
Name of activity		Form or schedule and line number to be reported on (see instructions)	(a) Loss	(b) Unallowed loss	(c) Allowed loss	
QUIVIRA PROPERTIES, LLC		990-PF LINE 23	20,961.00	0.00	20,961.00	
					<del> </del>	
			20,961.00		20,961.00	
Worksheet 7 - Activities With	Losses Repor	ted on Two or More	Forms or Schedule	es (See instructions.)		
Name of activity:	(a)	(b)	(c) Ratio	(d) Unallowed loss	(e) Allowed loss	
Form or schedule and line number to be reported on (see instructions):						
1a Net loss plus prior year unallowed loss from form or schedule ▶  b Net income from form or schedule ▶						
c Subtract line 1b from line 1a If zero	o or less, enter -0-	<b>&gt;</b>				
Form or schedule and line number to be reported on (see instructions):						
1a Net loss plus prior year unallowed loss from form or schedule						
c Subtract line 1b from line 1a If zero	o or less, enter -0-	<b>•</b>				
Form or schedule and line number to be reported on (see instructions):						
1a Net loss plus prior year unallowed loss from form or schedule						
c Subtract line 1b from line 1a If zer	o or less, enter -0-	<b>•</b>				
			4.00			

ARVIN GOTTLIEB CHARITABLE FOUNDATION 100156 FORM 990PF, PART I - OTHER EXPENSES

43-6380792

NET INVESTMENT INCOME	10,885. 32,544. 12,381.
REVENUE AND EXPENSES PER BOOKS	10,885. 32,544. 20,961.
DESCRIPTION	CONSULTANT FEES WAL-GO ASSOC, LLC - IRC 754 DED QUIVIRA PROP, LLC - RENTAL LOSS

64,390.

55,810.

TOTALS

28

100156

ARVIN GOTTLIEB CHARITABLE FOUNDATION 100156

43-6380792

FORM 990PF,	PART I	III - O	THER D	ECREASES	IN NET	WORTH O	R FUND	BALANCES
=======								

AMOUNT DESCRIPTION ---------

FOREIGN TAX TIMING DIFFERENCE PARTNERSHIP BOOK TAX ADJUSTMENT

1. 13,530. 13,531.

==========

TOTAL

STATEMENT 2

ARVIN GOTTLIEB CHARITABLE FOUNDATION 100156 FORM 990PF, PART XV - LINES 2a - 2d \_\_\_\_\_\_

43-6380792

RECIPIENT NAME:

UMB BANK, N.A. C/O JAN LEONARD

ADDRESS:

PO BOX 419692

KANSAS CITY, MO 64141-6692

RECIPIENT'S PHONE NUMBER: 816-860-1933

FORM, INFORMATION AND MATERIALS:

TYPEWRITTEN LETTERS; NAME AND PURPOSE OF ORGANIZATION

SUBMISSION DEADLINES:

NONE

RESTRICTIONS OR LIMITATIONS ON AWARDS:

ORGANIZATIONS MUST BE A QUALIFIED CHARITABLE ORGANIZATION

ARVIN GOTTLIEB CHARITABLE FOUNDATION 100156 43-6380792 FORM 990PF, PART XV, LINE 3a - CONTRIBUTIONS, GIFTS, GRANTS PAID \_\_\_\_\_ RECIPIENT NAME: MEDICAL MISSIONS FOUNDATION ADDRESS: 2456 LINDEN LN LEAWOOD, KS 66209 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: PC AMOUNT OF GRANT PAID ..... 15,000. RECIPIENT NAME: KEHILATH ISRAEL SYNAGOGUE ADDRESS: 10501 CONSOR SHAWNEE MISSION, KS 66212 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: PC 6,000. AMOUNT OF GRANT PAID ..... RECIPIENT NAME: LYRIC OPERA OF KANSAS CITY ADDRESS: 1029 CENTRAL ST KANSAS CITY, MO 64105 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: PC 35,000. AMOUNT OF GRANT PAID .....

ARVIN GOTTLIEB CHARITABLE FOUNDATION 100156 43-6380792 FORM 990PF, PART XV, LINE 3a - CONTRIBUTIONS, GIFTS, GRANTS PAID RECIPIENT NAME: HARRY S TRUMAN LIBRARY INSTITUTE ADDRESS: HWY 24 & DELAWARE STREET INDEPENDENCE, MO 64050 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: PC AMOUNT OF GRANT PAID ..... 5,000. RECIPIENT NAME: KANSAS CITY BALLET ADDRESS: 706 WEST 42ND STREET KANSAS CITY, MO 64111 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: PC RECIPIENT NAME: BIG BROTHERS BIG SISTERS OF GREATER KANSAS CITY ADDRESS: 4200 PENNSYLVANIA KANSAS CITY, MO 66202 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: PC AMOUNT OF GRANT PAID ..... 30,000.

ARVIN GOTTLIEB CHARITABLE FOUNDATION 100156 43-6380792 FORM 990PF, PART XV, LINE 3a - CONTRIBUTIONS, GIFTS, GRANTS PAID \_\_\_\_\_\_ RECIPIENT NAME: STANFORD UNIV SCHOOL OF MEDICINE ADDRESS: **ROOM 293** STANFORD, CA 94305 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: RECIPIENT NAME: KANSAS CITY FRIENDS OF ALVIN AILEY ADDRESS: 218 DELAWARE, STE 101 KANSAS CITY, MO RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: PC AMOUNT OF GRANT PAID ..... 10,000. RECIPIENT NAME: OZANAM HOME ADDRESS: 421 E 137TH ST KANSAS CITY, MO 64145 RELATIONSHIP: NONE PURPOSE OF GRANT: GENERAL FOUNDATION STATUS OF RECIPIENT: EXEMPT AMOUNT OF GRANT PAID ..... 10,000. ARVIN GOTTLIEB CHARITABLE FOUNDATION 100156 43-6380792 FORM 990PF, PART XV, LINE 3a - CONTRIBUTIONS, GIFTS, GRANTS PAID \_\_\_\_\_\_ RECIPIENT NAME: AFA (AGRICULTURE FUTURE O F AMERICA) ADDRESS: P.O. BOX 414838 KANSAS CITY, MO 64141 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: PC RECIPIENT NAME: KEMPER MUSEUM OF CONTEMPORARY ART & DESIGN ADDRESS: 4420 WARWICK BLVD KANSAS CITY, MO RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: RECIPIENT NAME: BOYS & GIRLS CLUBS OF GREATER KANSAS CTY ADDRESS: 6301 ROCKHILL ROAD, SUITE 303 KANSAS CITY, MO 64131 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: PC  ARVIN GOTTLIEB CHARITABLE FOUNDATION 100156 43-6380792 FORM 990PF, PART XV, LINE 3a - CONTRIBUTIONS, GIFTS, GRANTS PAID \_\_\_\_\_\_ RECIPIENT NAME: THE SALVATION ARMY KANSAS & WESTERN MISSOURI DIVISION RELATIONSHIP: NONE PURPOSE OF GRANT: GENERAL FOUNDATION STATUS OF RECIPIENT: EXEMPT AMOUNT OF GRANT PAID ..... 25,000. RECIPIENT NAME: HABITAT FOR HUMANITY KANSAS CITY ADDRESS: 1423 E LINWOOD BLVD KANSAS CITY, MO 64109 **RELATIONSHIP:** NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: PC AMOUNT OF GRANT PAID ..... 10,000. RECIPIENT NAME: UMKC BLOCH SCHOOL OF BUSINESS ADDRESS: 5110 CHERRY STREET KANSAS CITY, MO 64110 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT:  ARVIN GOTTLIEB CHARITABLE FOUNDATION 100156 43-6380792 FORM 990PF, PART XV, LINE 3a - CONTRIBUTIONS, GIFTS, GRANTS PAID \_\_\_\_\_\_ RECIPIENT NAME: METROPOLITAN ORGANIZATION TO COUNTER SEXUAL ASSLT ADDRESS: 3217 BROADWAY STE 500 KANSAS CITY, MO 64111 RELATIONSHIP: NONE PURPOSE OF GRANT: CHARITABLE FOUNDATION STATUS OF RECIPIENT: PC AMOUNT OF GRANT PAID ..... 5,000. RECIPIENT NAME: FRIENDS OF THE KANSAS CITY ZOO ADDRESS: 6800 ZOO DRIVE KANSAS CITY, MO 64132 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: PC AMOUNT OF GRANT PAID ..... 10,000. RECIPIENT NAME: HARVESTERS ADDRESS: 3801 TOPPING AVENUE KANSAS CITY, MO 64129 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: PC AMOUNT OF GRANT PAID ..... 25,000. ARVIN GOTTLIEB CHARITABLE FOUNDATION 100156 43-6380792 FORM 990PF, PART XV, LINE 3a - CONTRIBUTIONS, GIFTS, GRANTS PAID RECIPIENT NAME: ROTARY CLUB YOUTH CAMP ADDRESS: 1219 WYANDOTTE KANSAS CITY, MO 64105 RELATIONSHIP: NONE PURPOSE OF GRANT: CHARITABLE FOUNDATION STATUS OF RECIPIENT: EXEMPT AMOUNT OF GRANT PAID ..... 10,000. RECIPIENT NAME: DELASALLE EDUCATION CENTER ADDRESS: 3740 FOREST AVENUE KANSAS CITY, MO 64109 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: AMOUNT OF GRANT PAID ..... 30,000. RECIPIENT NAME: UNIVERSITY ACADEMY CHARTER RELATIONSHIP: NONE PURPOSE OF GRANT: GENERAL FOUNDATION STATUS OF RECIPIENT: EXEMPT  ARVIN GOTTLIEB CHARITABLE FOUNDATION 100156 43-6380792 FORM 990PF, PART XV, LINE 3a - CONTRIBUTIONS, GIFTS, GRANTS PAID \_\_\_\_\_\_ RECIPIENT NAME: KANSAS CITY REPERTORY THEATRE ADDRESS: 4949 CHERRY STREET KANSAS CITY, MS 64111 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: AMOUNT OF GRANT PAID ..... 12,500. RECIPIENT NAME: JEWISH FEDERATION OF GREATER KANSAS CITY ADDRESS: 5801 WEST 115 STREET #101 LEAWOOD, KS 66211 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: PC RECIPIENT NAME: BAPTIST TRINITY LEGACY FOUNDATION ADDRESS: 6601 ROCKHILL RD KANSAS CITY, MO 64131 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: PC AMOUNT OF GRANT PAID ..... 20,000. ARVIN GOTTLIEB CHARITABLE FOUNDATION 100156 43-6380792 FORM 990PF, PART XV, LINE 3a - CONTRIBUTIONS, GIFTS, GRANTS PAID \_\_\_\_\_\_ RECIPIENT NAME: KANSAS CITY SYMPHONY ADDRESS: 1020 CENTRAL, SUITE 300 KANSAS CITY, MO 64105 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: AMOUNT OF GRANT PAID ..... 40,000. RECIPIENT NAME: MIDWESTERN INNOCENCE PROJ ADDRESS: 6320 BROOKSIDE PLAZA KANSAS CITY, MO 64113 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: PC AMOUNT OF GRANT PAID ..... 1,000. RECIPIENT NAME: ST. LUKE'S HOSPITAL FOUNDATION ADDRESS: 5830 NORTHWEST BARRY ROAD KANSAS CITY, MO 64154 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: PC  ARVIN GOTTLIEB CHARITABLE FOUNDATION 100156 43-6380792 FORM 990PF, PART XV, LINE 3a - CONTRIBUTIONS, GIFTS, GRANTS PAID RECIPIENT NAME: KAUFFMAN CENTER FOR THE PERFORMING ARTS ADDRESS: 906 GRAND BLVD # 11 KANSAS CITY, MO 64106 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: PC AMOUNT OF GRANT PAID ...... 500,000. RECIPIENT NAME: KANSAS CITY CHORALE ADDRESS: 5601 WYANDOTTE ST, STE 412 KANSAS CITY, MO 64111 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: PC AMOUNT OF GRANT PAID ..... 7,500. RECIPIENT NAME: KANSAS CITY ART INSTITUTE ADDRESS: 4415 WARWICK BLVD KANSAS CITY, MO 64111 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: PC AMOUNT OF GRANT PAID ..... 30,000. ARVIN GOTTLIEB CHARITABLE FOUNDATION 100156 43-6380792 FORM 990PF, PART XV, LINE 3a - CONTRIBUTIONS, GIFTS, GRANTS PAID \_\_\_\_\_\_\_\_\_\_\_ RECIPIENT NAME: POWELL GARDENS ADDRESS: 1609 N.W. U.S. HIGHWAY 50 KINGSVILLE, MO 64061 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: AMOUNT OF GRANT PAID ..... 10,000. RECIPIENT NAME: CLL GLOBAL RESEARCH ADDRESS: P.O. BOX 301402, UNIT 428 HOUSTON, TX 77230 **RELATIONSHIP:** NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: PC AMOUNT OF GRANT PAID ..... 50,000. RECIPIENT NAME: FIRST CALL ALCOHOL/DRUG PREVENTION & RECOVERY ADDRESS: 633 E 63RD ST KANSAS CITY, MO 64110 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: AMOUNT OF GRANT PAID ..... 7,500. ARVIN GOTTLIEB CHARITABLE FOUNDATION 100156 43-6380792 FORM 990PF, PART XV, LINE 3a - CONTRIBUTIONS, GIFTS, GRANTS PAID \_\_\_\_\_

RECIPIENT NAME: CASA JACKSON COUNTY

ADDRESS:

.. ~

2546 HOLMES STREET KANSAS CITY, MO 64108

RELATIONSHIP:

NONE

PURPOSE OF GRANT:

SUPPORT OF CHARITABLE ACTIVITIES

FOUNDATION STATUS OF RECIPIENT:

RECIPIENT NAME:

MOCSA

ADDRESS:

3100 BROADWAY STREET

KANSAS CITY, MO 64111

RELATIONSHIP:

NONE

PURPOSE OF GRANT:

SUPPORT OF CHARITABLE ACTIVITIES

FOUNDATION STATUS OF RECIPIENT:

PC

5,000. AMOUNT OF GRANT PAID .....

RECIPIENT NAME:

SOUTHWEST BOULEVARD

FAMILY HEALTHY CARE

ADDRESS:

340 SOUTHWEST BOULEVARD

KANSAS CITY, KS 66103

ARVIN GOTTLIEB CHARITABLE FOUNDATION 100156 43-6380792 FORM 990PF, PART XV, LINE 3a - CONTRIBUTIONS, GIFTS, GRANTS PAID \_\_\_\_\_\_ RECIPIENT NAME: KANSAS CITY CARE CLINIC ADDRESS: 3515 BROADWAY BOULEVARD KANSAS CITY, KS 64111 RECIPIENT NAME: KANSAS UNIVERSITY ENDOWMENT ASSOCIATION ADDRESS: 1891 CONSTANT AVENUE LAWRENCE, KS 66047 RECIPIENT NAME: UMKC SCHOOL OF EDUCATION ADDRESS: 615 E 52ND STREET KANSAS CITY, MO 64110 RECIPIENT NAME: PARK UNIVERSITY ADDRESS: 8700 NW RIVER PARK DRIVE PARKVILLE, MO 64152 AMOUNT OF GRANT PAID ..... 20,000. RECIPIENT NAME: Kansas City Jewish Museum Contemporary Art ADDRESS: 5500 W. 123RD STREET Overland Park, KS 66209 RELATIONSHIP: NONE PURPOSE OF GRANT: SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT: PC AMOUNT OF GRANT PAID ..... 5,000. ARVIN GOTTLIEB CHARITABLE FOUNDATION 100156 43-6380792 FORM 990PF, PART XV, LINE 3a - CONTRIBUTIONS, GIFTS, GRANTS PAID \_\_\_\_\_\_

RECIPIENT NAME: CHRIST COMMUNITY ADDRESS:

400 W. 67TH STREET Kansas City, MO 64113

RELATIONSHIP:

NONE

~ .N #

PURPOSE OF GRANT:

SUPPORT OF CHARITABLE ACTIVITIES FOUNDATION STATUS OF RECIPIENT:

AMOUNT OF GRANT PAID ..... 2,500.

TOTAL GRANTS PAID:

1,837,000. ----- Account Number: 100156 Page 8 of 105 Statement Period: Jan. 1 - Dec. 31, 2013



Statement of Investment Position

		Cost Basis	sis	Market Value	/alue		Estimated	
Units Description	Symbol Cusip	Ğ	Total	Chit	Total	Unrealized Gain / (Loss)	Annual Yield Income %	Yield %
Equity Securities								
Common Stock								
2,850 3M Corp	MMM 101	31.76	90,515.94	140.25	399,712.50	309,186.56	9,747	2.44
4,750 Abbott Laboratories	ABT	17.77	84,403.82	38.33	182,067.50	97,663.68	4,180	2.30
	002824100	1000	00,000	Š	02 074 60	35 050 034	7,670	8
4,730 Abbvie inc	ABBV	13.51	61.926,19	19.70	230,047.3U	0.010,001	996,	3.6
1,100 Air Products and Chemicals Inc	APD	64.59	71,045.40	111.78	122,958.00	51,912.60	3,124	2.54
	009158106	7	000	20, 20,	000 564 00	262 000 87	9 710	0 17
Sol Apple inc	AAPL 037833100	100.38	53,556.15	20.100	00:100:000	(22)	2 S	3
6,350 AT & T Inc	-	28.65	181,952.51	35.16	223,266.00	41,313.49	11,684	523
	00206R102							
2,950 BHP Builton Ltd	踞	36.48	107,616.00	68.20	201,190.00	83,574.00	6,844	3.40
One ADR Represents 2 Ord Shrs	088606108	č	20010	8	34 673 340	100 000 10	200	6
Z,3/5 Caterplilar inc Del	CAI 149123101	35.91	85,284,63	18.U8	213,073.73	130,369.12	30,00	\$
1,350 Celgene Corp	CELG	69.30	93,555.00	168.97	228,106.80	134,551.80	0	
	151020104							
3,175 Cenovus Energy Inc	CVE 15135U109	9.16	29,069.07	28.65	90,963.75	61,894.68	2,859	3.25
3,500 Cerner Corp	CERN	14.33	50,166.64	55.74	195,090.00	144,923.36	0	
	136/82104	č	000	10101	040	400 000	7	ć
2,800 Chevron Corp	CVX 166764100	21.54	60,320.00	124.91	349,748.00	289,428.00	00% 1.1	320
7,150 Cisco Systems Inc	CSCO	23.03	164,685.22	22.43	160,374.50	(4,310.72)	4,862	3.03
3.850 ConocoPhilips	17275R102 COP	23.88	91.938.46	70.65	272.002.50	180.064.04	10.626	3.91
	20825C104					•	•	
1,200 Continental Resources Inc	CLR	84.60	101,523.84	112.52	135,024.00	33,500.16	0	
1.350 Costco Wholesale Corp	212015101 COST	57.69	77,881.50	119.02	160,677.00	82,795.50	1,674	<b>5</b> .
	22160K105		•					
2,410 Cullen Frost Bankers Inc	CFR	38.02	91,619.28	74.43	179,376.30	87,757.02	4,820	2.69
	229899109							
5,250 CVS Caremark Corporation	CVS	40.96	215,041.27	71.57	375,742.50	160,701.23	5,775	<u>.</u> 2
2.375 Deere & Company	12665U1UU DE	40.10	95.248.52	91.33	216,908.75	121,660.23	4,845	2.23
	244199105							



Statement of Investment Position (continued)

Symbol  Units Description  Equity Securities (continued)  Common Stock (continued)  1,933 Duke Energy Hidg Corp  2,900 Emerson Electric Co   Unit	Total	Unit	Total	Unrealized Gain / (Loss)	Annual Yield	Yield %	
26441 29101							
26441 29101 2925C							
26441 29101 2925C							
29101 29101 29250	40.96	79,176.82	69.01	133,396.33	54,219.51	6,031	4 52
29101	A R 29.32	85,017.12	70.18	203,522.00	118,504.88	4,988	2.45
29250	4 4 7 5	30 624 11	18.05	56.857.50	26.233.39	882	155
			}				
1,100 ExconMobil Corp XOM	14.67	16,141.12	101.20	111,320.00	95,178.88	2,772	2.49
30231G102 2,475 Franklin Res Inc BEN	N 38.91	96,293.75	57.73	142,881.75	46,588.00	1,188	0.83
354613101 4 600 Gallacher Arthur I & CO A IG	n G 27.30	125.596.00	46.93	215,878,00	90,282.00	6,440	2.88
36357							;
6,350 General Electric Co	E 24.59	156,160.79	28.03	177,990.50	21,829.72	RRC'C	5.74
3,000 Gliead Sciences Inc	22.03	66,090.00	75.10	225,300,00	159,210.00	0	
1,500 Goldman Sachs Group Inc	S 148.45	222,681.17	177.26	265,890.00	43,208.83	3,300	124
500 Gottlieb Oil & Gas Corp KS	0.00	0.00	29.52	14,762.00	14,762.00	0	
3,250 Great Plains Energy Inc Great Plains Energy Inc	18.46	59,987.20	24.24	78,780.00	18,792.80	2,990	3.80
4,500 Halliburton Co	28.55	128,453.62	50.75	228,375.00	99,921.38	2,700	1.18
405216101 3,250 Hartford Financial Services Group Inc	31.10	101,075.00	36.23	117,747.50	16,672.50	1,950	1.66
2,100 Home Depot Inc	D 47.57	99,889.44	82.34	172,914.00	73,024.56	3,276	1.89
43/076102 7,900 Hormel Foods Corp	17.93	141,637.12	45.17	356,843.00	215,205 88	6,320	1.77
440452100 13,650 Intel Corp	00 C B B B B B B B B B B B B B B B B B B	127,377.25	25.96	354,285.75	226,908.50	12,285	3.47
4,400 Johnson & Johnson	34.73	152,822.99	91.59	402,996.00	250,173.01	11,616	2.88
2,550 Kimberly Clark Corp	H B 41.90	106,848.86	104.46	266,373.00	159,524.14	8,262	3.10
494-006 103 1,650 McDonalds Corp MCD 580135101	53.63	88,495.32	97.03	160,099.50	71,604.18	5,346	3.34





Account Name: Arvin Gottlieb Charitable Found

Account Number: 100156 Page 10 of 105 Statement Period: Jan. 1 - Dec. 31, 2013

Statement of Investment Position (continu	on (continued)	Cost Basis	ននៃ	Market Value	/alue		Estimated	
Units Description	Symbol Cusip	Unit	Total	Unit	Total	Unrealized Gain / (Loss)	Annual Yield Income %	Yield %
Equity Securites (continued)								
Common Stock (continued) 7.250 Microsoft Com	MSFT	33.81	245.112.62	37.41	271.222.50	26.109.88	8,120	2.99
	594918104						•	
2,900 Noble Corp Pic	NE GESA31101	21.99	63,762.56	37.47	108,663.00	44,900.44	2,204	2.03
2,100 Nucor Corp	NUE	. 40.57	85,199.55	53.38	112,098.00	26,898.45	3,108	2.77
6,400 Oracle Corp	ORCL ORCL	4.05	25,950.00	38.26	244,864.00	218,914.00	3,072	125
1,975 Pepsico Inc	PEP	23.15	45,724.96	82.94	163,806.50	118,081.54	4,483	2.74
1,100 Philip Morris International Inc		63.84	70,229.06	87.13	95,843.00	25,613.94	4,136	4.32
1,925 Phillips 66	7.1817 PSX 7.000.000	14.19	27,319.34	77.13	148,475.25	121,155.91	3,003	2.02
3,000 Procter & Gamble Co	718346104 PG	32.79	98,381.60	81.41	244,230.00	145,848.40	7,218	2.96
3,850 Qualcomm Inc	742/18109 QCOM 747505109	24,45	94,132.75	74.25	285,862.50	191,729.75	5,390	1.89
3,950 Sanofi-Aventis - ADR	·	44.96	177,592.00	53.63	211,838.50	34,246.50	4,957	2.34
1,850 Schlumberger Ltd	-	27.90	51,615.72	90.11	166,703.50	115,087.78	2,313	1.39
3,600 Starbucks Corp	SUGSS/108 XDBS	48.25	173,699.64	78.39	282,204.00	108,504.36	3,744	1.33
3,900 Texas Instruments Inc	NXT NXT	28.92	112,800.00	43.91	171,249.00	58,449.00	4,680	2.73
1,500 Thermo Fisher Scientific Inc		65.30	97,947.15	111,35	167,025.00	69,077.85	006	0.54
4,800 UMB Financial Corp	UMBF OM2788108	14.38	69,013.06	64.28	308,544.00	239,530.94	4,320	1.40
2,850 United Technologies Corp		31.59	90,029.50	113.80	324,330.00	234,300.50	6,726	2.07
3,100 US Bancorp Del	USB USB	30.74	95,282.84	40.40	125,240.00	29,957.16	2,852	2.28
2,600 V F Corp	902813504 VFC . 048904409	13.96	36,293.84	62.34	162,084.00	125,790.16	2,730	1.68
5,730 Verizon Communications Inc		29.94	171,551.89	49.14	281,572.20	110,020.31	12,148	4.31



Account Number: 100156 Page 11 of 105 Statement Period: Jan. 1 - Dec. 31, 2013

6
tinu
Son
) u
sitio
Pos
ant
Ĕ
Ves
if in
nto
E E
ate
ب

		Cost Basis	sis	Market Value	Value		<b>Estimated</b>	
Units Description	Symbol Cusip	Unit	Total	Unit	Total	Unrealized Gain / (Loss)	Annual Yield Income %	Yield %
Equity, Securities (continued)								
Common Stock (continued)								
1,750 Wal Mart Stores Inc	WMT	50.05	87,595.75	78.69	137,707.50	50,111.75	3,280	2.39
	931142103							
4,000 Williams Companies Inc	WMB	18.24	72,971.16	38.57	154,280.00	81,308.84	6,080	3.94
	969457100							
Total Common Stock			5,715,506.65		12,122,344.63	6,406,637.96	283,758	
Total Equity Securities			5,715,506,65		12,122,344,63	6.406,637.98	283,758	

		1	ı			
					2	١
				١		į
			1		į	ļ
į						
		į	Š			
į					į	į
		i	į			
9	ı	ŧ	Į	ı	ı	i,

<b>88.63</b> 53,785							
	1,859,088.53	7,342,651,53		5,483,563.00			Total Equity Fund
						81063U206	
417,284.47 2,828 0.25		1,126,941.68	17.81	709,657.21	11.22	UMBMX	63,275.782 Scout Mid Cap Fund
				•		8106311503	
900,951.90 18,586 1.18		1,573,928.76	37.26	672,976.86	15.93	UMBWX	42,241.781 Scout International Fund
<u>.</u>	<u>}</u>			20:010	3	742530747	
4,846.69 764 0.25	4,8	311,162,68	20.49	306,315,99	20.17	PCBIX	15,186.075 Principal Midcap Class I
						683974505	
(1,437.35) 1,084 0.43		249,748.61	37.56	251,185.96	37.78	ODVYX	6,649.324 Oppenheimer Developing Mkts CI Y
						413838202	
59,288.17 13,556 1.66	59,2	818,306.62	26.32	759,018.45	24.41	OAKIX	31,090.677 Oakmark International Fund Class i
						501885107	
144,238.10 55 0.01	144,2	452,701.87	28.33	308,463.77	19.30	: LKSCX	15,979.593 LKCM Small Cap Equity Fund Instl. Class
						52106N889	
(23,793.31) 6,239 1.92	(23,73	325,371.20	18.67	349,164.51	20.04	LZEMX	17,427.488 Lazard Emerging Markets Equity Instl
						353533888	
110,191.78 6,073 0.70	110,1	867,876.98	22.58	757,685.20	19.71	FKSCX	38,435.65 Franklin Intl Small Cap Growth Adv
						068278308	
221,028.85 0	221,0	576,702.04	34.79	355,673.19	21.46	BSCFX	16,576.661 Baron Small Cap Fund
						00203H792	
(1,012.15) 0		506,318.79	9.78	507,330.94	9.80	ASAIX	51,770.837 AQR Multi-Strategy Alt Fd CI - I
						025076647	
(3,067.95) 4,610 1.49	(3) (3) (3)	308,750.22	15.74	311,818.17	15.90	AVUAX	19,615.643 American Century Mid Cap Value Inst.
						018918714	NFJ Small-Cap Value Fund CL A
30,569.33 0		25.11.57	33.16	194,272.75	28.65	PCVAX	6,780.521 Allianz Fund Closed 8/31/09
		20 CAS ACC					





Page 12 of 105

Statement Period: Jan. 1 - Dec. 31, 2013

100156

Account Number:

Arvin Gottlieb Charitable Found

Account Name:

5.10 4.70 4.70 4.69 4.68 4.68 5.14 4.69 5.49 5.14 Annual Yield 4.23 % ncome 15,000 2,689 2,972 2,268 1,050 1,033 1,246 3,843 6,063 2,787 Estimated 8 33,571 2,545.19 564.40 549.41 1,216.06 760.02 Unrealized Gain / (Loss) 29,232.00 2,151.32 2,105.13 3,214,09 5,969.09 48,306.71 9,985.00 Total 326,901.00 57,278.04 63,508,80 48,509.89 22,359.24 54,196.24 22,420.15 29,431.80 81,873.72 12,875.36 719,354.24 130,840.00 Market Value 106.50 106.48 106.94 106.47 106.52 104.67 108.97 106.83 Chit 106.94 106.97 106.27 Total 55,126.72 46,404.76 21,794.84 50,982.15 75,904.63 671,047.53 120,855.00 297,669.00 60,963.61 21,870.74 28,215.74 12,115.34 Cost Basis 1.02 <del>1</del> <del>1.</del> <u>5</u> ž 1.02 0.99 66.0 1.01 <u>.</u>. 0.97 Shir 36207ELM4 36201H4K6 36241KJN9 36200KVP9 084664AT8 3133XDTL5 36225BZV3 36202DZ79 36291GYW0 36202DS93 36200MHP1 Symbol Cusip Statement of Investment Position (continued) Total Government & Agency Bonds DTD 10/1/2003 5.0000% 10/15/2018 DTD 11/1/2003 5.0000% 11/15/2018 Govt National Mtg Assn DTD 12/1/2002 5.0000% 12/15/2017 DTD 11/1/2003 5.0000% 11/20/2018 Govt National Mtg Assn DTD 3/1/2006 5.5000% 12/20/2020 Govt National Mtg Assn DTD 5/1/2003 4.5000% 5/15/2018 76,865.454 Govf National Mtg Assn DTD 5/1/2004 5.0000% 6/15/2019 125,000 Berkshire Hathaway Fin Corp DTD|1/11/2005 4.850% 1/15/2015 AA DTD 4/1/2003 5.0000% 4/15/2018 DTD 6/1/2002 5.5000% 6/20/2017 Government & Agency Bonds 300,000 Federal Home Loan Bank DTD 11/4/2005 5,000% Ser VB15 Govt National Mtg Assn Govt National Mtg Assn Govt National Mtg Assn Govt National Mtg Assn 12,040.08 Govt National Mtg Assn Pool # 781656 Pool # 429732 Pool # 584126 Pool # 003466 Pool # 782069 Pool # 604238 Pool # 603722 Pool# 628125 Units Description 12/21/2015 ≵ Corporate Bonds 45,362.84 21,054.876 53,782.195 21,000,756 50,665.488 27,696.44 59,449.51

翘

Account Number: 100156 Page 13 of 105 Statement Period: Jan. 1 - Dec. 31, 2013

Statement of Investment Position (continued)	(pənu	Cost Basis	sis	Market Value	alue	-	Estimated	Vield
Haite Description	Symbol Cusip	Unit	Total	Unit	Total	Unrealized Gain / (Loss)		%
Eixari Income Securitles (continued)								0
Corporate Bonds (continued)	The state of the s	1.06	211,842.00	101.10	202,198.00	(9,644.00)	7,250	1.0.1
DTD 5/8/2009 3.625% 5/8/2014	05565QBL1							
A		1.01	202,704.00	100.25	200,508.00	(2,196.00)	3,250	1.12
200,000 Cisco Systems inc DTD 3/16/2011 1.625% 3/14/2014	17275RAJ1							
AA- 30 000 Conocoupillins		1.09	42,669.51	100.34	39,132.21	(3,537.30)	1,853	1.11
OTD 2/3/2009 4.750% 2/1/2014	20825CAS3							
A 160 000 Cex Corp DTD 4/25/2007 5.600%		1.17	187,480.16	112.27	179,625.60	(7,854.56)	8,960	2.08
5/1/2017								
Sr Unsub Note	126408GJ6							
B88+ ,		9	00 000 900	103.06	206.120,00	(110.00)	5,000	1.70
200,000 Dow Chemical Co	260543013	9. <u>.</u>	200,220,002	2		•		
Sr Unsecured Notes								
888		,	700 450	108 23	216.450.00	(6,708.00)	10,750	2.28
200,000 Fortune Brands Inc	1	1.12	223,156,00	1005	200001017			
DTD 1/12/2006 5.375% 1/15/2016	349631AL5							
, BBB- 2007 5 2004/14/0007 5 200%		0.83	116,776.25	114.83	143,537.50	26,761.25	7,125	6.69
125,000 tem Colp 0.10 % 14,200 % 15,000 % 1								
Senior Notes	459200GJ4							
AA-		5	000 020 000	116.52	233.040.00	(6,232.00)	12,500	2.43
200,000 Starbucks Corp		0Z1	738,212,00			•		
DTD 8/23/2007 6.250% 8/15/2017	855244AC3							
Senior Unsecured Notes					000	00 000 50	6 7 19	6.04
125,000 Wal Mart Stores Inc		96.0	119,577.50	112.45	140,560.00	20,306,02	5	
DTD 4/5/2007 5.375% 4/5/2017	931142CG6							
AA								





Account Name: Arvin Gottlieb Charitable Found

Account Number: 100156 Page 14 of 105 Statement Period: Jan. 1 - Dec. 31, 2013

_			Cost Basis	lasis	Market Value	Value		Estimated	
Units Description		Symbol Cusip	Unit	Total	Unit	Total	Unrealized Gain / (Loss)	Annual Yield Incorne %	Yiek %
Fixed Income Securities (continued	(ps)								:
Corporate Bonds (continued) 125,000 Wells Fargo Bank NA DTD 5/15/2006 5.750% 5/16/2016 Super-Regional Banks-JS A+	A 0% 5/16/2016 iks-US	94980VAE8	0.93	116,765.00	110.54	138,170.00	21,405.00	7,188	6.88
Total Corporate Bonds	nds			1,787,329.42		1,830,181.31	42.851.89	76.656	
Total Fixed Income Securities	Securities			2,458,376.95		2,549,535.66	91,158.60	110,227	
Fixed Income Funds									
Fixed Income Funds 87,719.298 DoubleLine Total Return Bond Fund CL I.	tum Bond Fund CL I.	DBLTX	11.39	999,122.80	10.78	945,614.03	(53,508.77)	48.860	5.17
104,013.971 Metropolitan West High Yield Bond Fund I	ligh Yield Bond Fund		9.92	1,032,221.31	10.26	1,067,183.34	34,962.03	62,408	5.85
165,565.583 Ridgeworth Seix Floating Rate High Inc	ating Rate High Inc	592905848 SAMBX	90;6	1,500,004.68	90'6	1,500,024.18	19.50	62,749	4.18
223,604.934 Scout Core Bond Fund Class I	ind Class I	/662816/8 SCCIX	11.44	2,557,148.21	11.36	2,540,152.05	(16,996.16)	35,330	1.39
42,613.157 Scoul Unconstrained Bond Fund Class I	d Bond Fund Class I	SUBFX	11.78	501,999.78	11.84	504,539.78	2,540.00	6,648	1.32
94,377.392 Vanguard Short Term Bond Index Signal Cit.	n Bond Index Signal	VBSSX	10.61	1,001,318.27	10.49	990,018.84	(11,299.43)	12,175	123
44,365.572 Victory Fund for Income Class I	ome Class I	921937850 VFFIX 92646A658	11.25	499,112.69	10.40	461,401.95	(37,710.74)	28,261	6.13
Total Fixed Income Funds	Funds			8,090,927.74		8,006,934,17	(81.993.57)	256.430	
Total Fixed Income Funds	Funds			8,090,927.74		8,008,934.17	(31,993.57)	258,400	
Other Funds								of security and security are a	
8,000 First Trust Energy Income and Grwth Fund	come and Grwth	FEN	30.58	244,624.25	32.28	258,240.00	13,615.75	16,800	6.51
80,000 iShares Gold Trust	· · · · · · · · · · · · · · · · · · ·	33738G104 IAU 464285105	11.98	958,068.75	11.68	934,400.00	(23,668.75)	0	

M

Arvin Gottlieb Charitable Found

Account Number: 100156 Page 15 of 105 Statement Period: Jan. 1 - Dec. 31, 2013

Mi
JIME

Statement of Investment Position (continu	(pər	Cost Basis	Sis	Market Value	Value		Estimated	:
Units Description	Symbol	Unit	Total	Unit	Total	Unrealized Gain / (Loss)	Annual Yield Income %	¥ieid %
Other Funds (continued)								
Other Funds <i>(continued)</i> 10,118 Tortoise Energy Infrastructure Corp	TYG 89147L100	31.19	315,562.65	47.67	482,325.06	166,762.41	23,271	4.82
Total Other Funds			1,518,255.65		1,674,965.06	156,709.41	40,071	
Sector Other Funds Control	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1	74.74 PESSON	1,618,255,06	KARWA (J	1,674,986.06	156,709.41	40,071	
Real Estate / Oil & Gas								
Real Estate / Oil & Gas				00000	000000	323 333 00	c	
1 Qurvira Properties LLC A 33 1/3% undivided Membership		116,667.00	116,667.00	440,000.00	440,000,00	25,000,000	•	
interest								
in a Limited Liability Company		1		0000	00 037 003 0	1 194 434 00	c	
1 Wal-Go Associates L.L.C. A 50% undivided Membershin interest in		1,414,316.00	1,414,316.00	2,538,750.00	7,538,730,00	1, 124,404.00		
A Texas Limited Liability Company								
Total Real Estate / Oil & Gas			1,530,983.00		2,978,750.00	1,447,767.00	0	
Total Real Estate / Oli & Gas	Cool tees the State Control of C	14.138	1,630,983,00		, 2,978,750.00	1,447,767.00	• ·	
Unique Assetts			The second secon	Sentan Charles Anna Charles	TACTOR AND	A. A. C. Propaga and April 1985 Action (And State (State)	The state of the s	
Unique Assets		,		7.	4 400 004 74	102 001 7/	c	
1 En Trust Capital Diversified Fund QP Ltd (Class D1/Series 0612)		1,000,000.00	1,000,000.00	1,123,221./4	1,123,221.74	123,621	,	
Total Unique Assets			1,000,000.00		1,123,221.74	123,221.74	٥	
Total Unique Assets			1,000,000.00	_	1,123,221.74	123,221.74	0	
Money Markets and Cash		5 m •						
Money Market Funds 1,002,499.94 Fidelity Treasury Fund #695	FISXX	1.00	1,002,499.94	1.00	1,002,499.94			0.01
Total Money Market Flinds	510115		1,002,499.94		1,002,499.94	00.0	66	
Cash		7	(67 206 6)	00	(2.207.72)		0	
(2,207.72) Cash		9:-	(2,501.12)		167 TOC 01	000	0	
Total Cash			(2,201.12)		(4,401.12)		1	

Account Name: Arvin Gottlieb Charitable Found

Account Number: 100156 Page 16 of 105 Statement Period: Jan. 1 - Dec. 31, 2013

Statement of Investment Position (continued)	estment Posi	tion (continued)						
			Cost Basis	asis	Market Value	alue		Estimated
		Symbol				-	Unrealized	Annual Yield
Units Description	ription	Cusip	Unit	Total	Unit	Total	Gain / (Loss)	lucome %
Money Markets and Cash (continued)	Cash (continued	.,(	-	•			•	
Receivable Cash			÷					
6,044.35 Write-	6,044.35 Write Off Receivable		1.00	6,044.35	1.00	6,044.35		0
Tortoi	Tortoise Energy Infrastnicture Corp	cture Corp						
Total	Total Receivable Cash			6,044,35		6,044.35	0.00	0
Total	Total Money Markets and Cash	nd Cash	- <del>-</del>	1,008,338.57		1,008,338.57	0.00	93
Acco	Account Total		-	26,803,949.56	8	36,806,739.25	10,002,789.69	744,360
	_							